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1L (6%) B flr) =+ 2+ 1, RAE 2 > —1 B, BEHEREYH, TEERBHREHRETSE
o B A

sol: f(z) = (z+ %)2 +3, when z > —1, f(z) is increasing, therefore, the inverse function exists.

domain of f(z) : {x € R:x > —3} and range of f(z) : {y € R:y > 3}.
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Therefore, v = —1 + 4 /y — 2. ie., f7'(z) = —3 + y/o — 3, with domain {z € R: 2z > 3},

and range {y € R:y > —3}
2. (T%) K sin™" cos(3m).
sol: sin™! cos(%w) = sjnfl(_%) =-1
3. (7%) Et& tansec !z.

sol: Let 6 =sec™' x, where 6 € [0,5) U (5, 7).
(i) When 6 € [0, %), z > 1,

tan(f) = +Vsec?d — 1, since tand > 0

= Va2 -1
(ii) When 6 € (3,7, z < —1,

tan(f) = —vsec?d — 1, since tanf < 0

= —vaz-1

Therefore,

tansec” "z =



